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Whatis 50 in Hexadecimal?¢

What happens if you increase the
resolution of an image®@

Image quality increases
and the file size increases

A blacklist is when...

...a programmer considers
all data that the program
being created, should
reject. All other data should
be accepted by the
program.

Inputs A
B

C

State the output (Q) when the
following inputs are: A=o B=1 c=1

1 or TRUE

}— QOutputQ

This memory chip stores the boot up
scripts.

ROM

(Read Only Memory)

When data travels across a
network, it fravels in the form of...

Data Packets
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